F8REMMKRARE IR

AT

= 148
* ¥ 2R REHEX(BEMERR)
= &t X SlKEFESE ESEH = & F & i #H O BKER HELE L5
L] B & B = FEIE A B R 3317 [ No] 95010
Y 7k N —Fo K » ~~F [e] V71 ] =ik Gam) S| &8 [ | ~ = [H32 IR
# = it ] EREOBKBZ (ER1 6 5E—2 25E)
= &lE2m BREHEDPMIILERES Y ERLTVENE L LZELLSLY
£ K@ i A% 1 ARSI LS <
" # i BET KA - 5 KE S DR - -
m = B D R EFEOTEE [BEA=S| oy |OFFEEH (FARFEAR 1800RIHnHR 14 2knek B
ERABHYUEYNLTHNEMHICYES I Y
E3 E> X HEEZT | et | @ | HEENe | 21-07-01
(BHEX - F8RUEGHEESEE]
= ¥ ) B ] TR 19FE LR 2 O R LR 2 168 Erk2 2FE [P TEEE
EEIES EEICES EEIES EEIES " =
-(nﬂ;éﬁﬂ:%é%ﬁffﬁffiﬁiﬁ? /-n‘ulf%‘lﬁé:%ff;f%ﬁé%(H’.:’fui/x ;mlf%‘lté:%fff%ﬁ%%(Hé’fuM - MR C 2 BRI SRS (1FFn44 ZE1)

b e ey L | CRRAA44E LA B ) B 4R ARTAT R B6) S OMIAKE =0 | 4R CARTATR B ) S QML =0 |4 SR A ) S O =0 ENEIE, DR
75&%%0)%%%(:?&\“(%\7k)ﬁﬁ&ﬁx@f§%%ﬁd‘ﬁﬁliﬁﬂ7{ UMb =V (ng@%)m (TS%%%’:)UX)E)’(E 3 (TS%%%E)UX)E?(E . (TS%&%)OXD;(E ) ‘r$$§>ﬁi§%£%+®
e R 20 B OAF

P P P i S
ey JEFR 1,800m #EE 900m JEE 800m y ”$D~ﬁ““ P
HEE 2,000m ke =V e =n g Hfbe =g S -
5 = D % g| A= FEF: 1,000m JEF: 3,300m JEF: 1,400m (RE L) ?éqffé‘
fEE 1,000m Ebfugjﬁ_kﬁ%v)
L
e ST (W B~ AR it ﬁiﬁsﬁ,@%f;iﬁ
oA T D HE
e, PR M
B licky, meE
2= 7L HTH
= ¥ o x £ F#F ( x f % ) B L ATV, YRR
KB E DT HRE CTHEET D
ZEERDET,
= % 5 ( & = . ) H19;R & %8 H20;R B 48 H21R B %8 H22 P H %8 H19~H22& 5+
XE I MARMOEER T, EHMNICHY EFTnET, 199 192 306 305 1,002
— g B b
3] = % H B 54 56 110
BHRMER
b | X ti =
#z & )
z O ( E OB ) 199 192 252 249 892




